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(-9)(3 +6x% - 10x+4) + (2x3 +6x° -2x—6)
Write the polynomial in standard form.

(-9x% +6x% - 10x+4) + (2x3 + 6x —?;x/-a) o
/ N4 3 i L

What is the degree of the polynomial?

-~ 5!)(—# 6_)/'—{0)(+y #2xX + CxXC=7x—C =

; '—7%7‘/2)(1 —/Ix — L .
Answers - 73 + 12x2 - 12x -2 _//

3 - | @;%m

2. Perform the indicated operation.

{Type a whole number.)

(E!x3 —6x° +9x-6) = (3x3 -9x% - 8x+ 8)

Write the polynomial in standard form,

(8x® -6x2 +9x—6) - (3x° -9x° -8x+8) =
-

ALV L)
What is the degree of the polynomlal? L N

I «—@ ‘¥5(—6 —3X frw —{'5(——-5,
(Type a whole number.) e o

Answers gy3 4 3x% + 17x - 14 Q _,_f_,/Z,/V o X ( 1 X F'/vé//)
3 S =3
3. Find the product. ((_f;)?‘ X . BT

(X + 5)(x? = 5 + 25} /( 3 /
—sA - 42 .~
(x + 5)(x2 - 5x + 25) = : (Simplify your answer.) A T . TK Z{’(:—f—’ Ir=

Answer. 3 4 125
4. Find the product. (6 (—fs ) /,{ -_f.f(y // "

©6x+5)(x2 +8x +2) 6)( "f' ?j)('L
(6x+5)(x2+8x+2) =:! —(’/2')(‘1- W ‘7"?0)(76/0 "—xr

{Simplify your answer.) é)( —f S‘ 3 X _’__‘_ S,_Z 7( .7‘_/0 )

Answer: gy + 53x° + 52x + 10

Yy

{..______._.----'-‘-'___h-h"‘"l—»-___

_'M_'-F--_"-\r-q._.._ —/-’,——\p
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5. Multiply.

(x+9)(x+7)

https://xlitemprod.pearsoncmg.com/api/v1/print/ma
i
79) Xr7) —
XL 474+ FA~+G3 -

(x+9)(x+7)= : (Simplify your answer.) = =

Answer; Xz +16x +63

e

6. Find the product.

(x—-6}x+2)
x-B)c+)=[ ]

Answer: w2 _ 4y _ 12

—
(- )
XLtk =Cx —(z=

; T
C X —ox—2 =S

g _—

7. Use the FOIL method to multiply the binomials.

(Bx+T7)(4x+ 1)

(Bx+7)(4x+1)= (Simplify your answer.)

ANSWer: 24x? « 34x+7

@Q@f ) =

2€fC £ Cx €£23X+7 =

S .

8. Find the product.
{(5x-7)(10x+7)

Ge-0x+n= |

Answer: 502 - 35x - 49

f_f—f-")_?%—
Ex :Z._C:/ELY.-—”/ o
SOxL 437 x ~79X =% 9

C T 3rc gy

L. m——
9. Find the product.

(x=3)x +3)

(x-3}x+3)= : (Simplify your answer.}

Answer: 2 _g

Wy =
Xt 3)(73/1—&

RO

—_—— 3
10. Multiply using the rule for the product of the sum and difference of two terms. /Z
X501 e he

(2x + 3)(2x - 3)

@eyEx-y=[ |

Answer: 442 - g

9XL —5{/5‘/,( & -

Cori—5 =

20f 39
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11.  Multiply using the rule for the square of a binomial. /( 7‘ f —_

(c+ 8)% (J(’f @/-ﬁf) -
=[] XU T IXE€CIxr§w:

Answer: 2 | 16x + 64 GZ '7“/6 ,(/—7‘?_;__—:__:

_______-—-—'_'_._-_._'-__'_‘-‘_"-_‘—--—.—
12. Find the product. ( X ) < =
- T T -
(6x + 5) 6)(@—{;5‘) -
(5X+5)2=:(Simplifyyouranswer.) ; )(L ..(4 }JX ~ 20)("(‘ 75 —
Respuesta: 3542 + g0x + 25 3()(L'7L 60?< <2 5 < -

13.  Multiply using the rule for the square of a binomial. /( — cy &_
- 2 'R g
o (XD (9 =
{x-10) =|
Xt —rox—ux /00 -

Answer: 42 _ x.+ L '
I R /00 5

14. Use the FOIL method to multiply the binomials. ' T
ﬁ/ ~SI) 2x+59) =
it

(x = 5y)(2x + Sy}

L )
(x - 5y)(2x + 5y) = : (Simplify your answer.) Z X -+ Ix — /00X Z

. Answer; 2X2 - 5xy - 25Y2

15. Find the product.

(8x + 5y)°
T —

Respuesta: g4y + goxy + 25y°

—

Jof 39 2/20/2019, 3:10 Ph
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16. Find the product, ("\(y //( 2:74 X‘7 —(—7 4 ) -
(x=y) (& +xy +y?) 4 7 '

x=y) (¥ +xy+y?) =]

(Simplify your answer.)

Answer: 3 _ 3

O
17. Multiply using the rule for the product of the sum and difference of two terms. é ;ﬁ\

(6x + Sy)(6x - 5¥)

3¢ _ ;-
e — sl Rels s At

36l o -
Answer: 3,2 _ o5, 2 ' ( 2 s 7 e Q

18. Factor the polynomial using the greatest common factor.
cannot be factored, so state.

ere-is-no common factor other than 1 and the polynomial

1Bx + 24

O A, 18x+24=
(U) B. The polynomial is prime.

- Answer A 18x+24=| 6(3x+4)

19. Factor the greatest common factor from the polynomial. é ‘
I

28»:2 +21x

Select the correct choice below and fill in any answer boxes within your choice,

O A 2832 +21x=
() B. The polynomial is prime.

Answer: A. 28x2 +21x = 7x(4x + 3)

4 of 39 2/20/2019. 3:10 PM
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20. Factor the given polynomial. CA"?‘L

PRVa
x* +7x+10 @'&Z)()(-fs’ —

Select the correct choice below and, if necessary, fill in the answer box within your choice.
X 5 X275 -

OA 2i7x+10= ,\/"f'?)(f/d -

(0 B. The polynomial is prime. )( Li 7 /(7' /O =
(Xt 2(x5) )
Coodf

Answer: A. x% + Tx+10=| (x+5)}x+2)

21. Factor the trinomial, or state that the trinomial is prime'.
x2 - 8x-20

Select the correct choice below and fill in any answer ithin your choice,

DA 2 _gx-20= '( i o =

AR l
() B. The polynomial is prime. C( .{-Z) L /o) } /( — Z XK=72U —

Answer: A. x2 - 8x-20=| (x=10)(x + 2) G’U) ”(

C( ”ﬂ K-5) _
Select the correct choice below and, if necessary, fill in the answer box within your choice.

7
A, 2 X r—i */,74,/;’5: / 45X 3‘(7”{‘\_..

* x"—-8x+15=

(8
_} B. The polynomial is prime. W /( — Z /(’T‘ / =
e

Answer: A. x? - 8x+ 15= (x~5)(x-3) G—u)c(
23. Factor the trinomial completely. ﬂ-’? —l-!) [(
z DO
13x" -25x-2

ﬁ I
Select the correct choice below and, if necessary, fill in the answer box to complete your choice

— [ X5
O A 43,2 - 25¢-2= {Factor completely. (/3«’(%/)(( 1) /3)( ZC;( T X—1 =

() B. The polynomial is prime.

22, Factor the given polynomial.

x° - 8x+15

Answer: A, 13x° - 25x = 2 ={13x + 1){x — 2)! (Factor completely.) G
DN (/(

5of30 2/20/2019,3: 10 PM
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24. Faclor the trinomial, or state that the trinomial is prime.
5a° - 4a-28

Select the correct choice below and fill in any answer boxes within yoﬁ?'éhoice.

O A 552 _4a-28=
() B. The polynomial is prime.

Answer: A. 5a° - 4a-28=|{5a—14)(a +2)

cat —~ffoa—lTa 25
Y B

: P
25. Factor the difference of two squares. 2,- . f
: 4= (zeb)c-4)
2
X" =144
ﬁ/)’h gy )
Select the correct choice below and fill in any answer boxes within your choice. X g ({ -

QA Z-144= (X) ‘_(/U

() B. The polynomial is prime.

Answer: A. X% = 144 = [(x + 12)(x - 12)

E— — - E__ ..L-_... T _-_-_-_-_-_-_-_-_‘_-_‘_
26. Factor the difference of two squares. &L - é - /& 46) ((' — Io) —

10 - 49 For pande l6x t—5e

Select the correct choice below and fill in any answer boxes within your choice. i

A q16x2-49=
() B. The polynomial is prime.

Answer: A, 16:(2 -49=|(4x+7)}{4x-7)

27. Factor the difference of two square;. a %- LLT_ / A —f[_) )/C—aé)
64x% - 121y° 4/ mrhe, 6
AR

Select the correct choice below and fill in any answer boxes within your choice.

e e G) —Gy)!
(X119 (X{—-—//;;)

Answer: A. 64x° - 121y2 = [(3,(... 11y)(8x - 113”!

~
“\.
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(i)

L
' ) X —ix—3x-td8 )
OA 2 1ge1= )(L"/ﬁ 7| /

Loy |
() B. The polynomial is prime. @(.—, 7)@(/—-‘1—)';/ )/ (//( 7 ’ <

Answer: A. x° - 18x+81=|  (x-9)

28. Factor the perfect square.

x2 = 18x + 81

Select the correct choice below and fill in hswer boxes within your choicg.

29. Factor the perfect square.
(e~ )2~ ) =

Select the correct choice below and fill in any answer boxes within your choice. 9’ X L —2 X — Z, A (

l.—-—

i

4x% - 4x +1

OA 42 -ax+1s=
(O B. The polynomial is prime,

Answer: A, 4x2 -4x+1= {2x - 1)2

30. Factor the expression ¢ etely or stateﬁl—fma‘poiynemmug_gnnr\?: 7 < - o

7% -7x /MC,&_ a -é /K’fé//ﬂ)—77( (XL”"' | )
Select the correct choice below and fill in any answer boxes within your choice. 7 )( / Q{ |r‘l } ! =

O A 78 _7x= 7)(()('—(’()/)(—"/)

(Factor completely.)

() B. The polynomial is prime,

Answer: A. 7x° - 7x = 7x(x + 1}{x = 1}|(Factor completely.}

31. Factor the trinomial completely.

- _7._\
X A [3K +(= b
Select the correct choice below and fill in any answer boxes within your choice. 3 ( X ’L'f' 6 )( T ) -

3x% +18x+ 15

(Factor completely.)

[} 8. The polynomial is prime.

Answer: A, 3x2 +18x+15=| I{x+1)(x+5) | (Factor completely.)

7 of 39 2/20/2019.3:10 PA
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3K -3x—t76 =
3x% - 3x- 126 3 ()( - X - Vé)

Select the correct choice below and fill in any answer boxes within

O A 323y 126 3 Z)(‘f 6,22 :—ZET!)

{Factor completely.)

MATHI1314WARMUPCOREQMI101-Alfredn Z

—_

<'32. Factor the expression completely or state that the polynomial is prime.

() B. The polynomial is prime.

Answer: A, 3x° - 3x - 126 =| 3(x + 6)(x - 7) |(Factor completely.)

"‘"——.n.-_._‘_

33. Factor completely, or state that}b&fynomlal is prime. A/ /¥4 “"4

B 2 x —3 Ly
4 » )
R e O 2

w(mé——m‘):
O SINEIED

Select the correct choice below and fill in any answer boxes within your choice.

DA 23 3=
(0 B. The polynomial is prime.

Answer: A, 2x° - 32x = 2x{x+4){x—-4)

e

Bof 39 2/20/2019, 3:10 Ph
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34, — 2

Find seven ordered pairs to the equation y = x° - 4. Then Cho?se raph that connects the points.
determine its graph.
A, . B.

/di -\.J'}

x y
-3 5’ (—-—-’)/ Y')
2 © 2 ,-)
- — 2 (”/'-3)
o_—¥ (o) <)
1 -2
= ('}“‘))
2 (Z/U)
: . (3, s)
e

S gy e () s Ty E ST
2 Yz (U 2 (TS
Yz entog < (UE) =Y T
° 7:(0)"*’“/’-(0)/0)/% i B
¥ (1) < (1)(1) =% = A

g < @)=z @/()r T
vy ) B)6) TR T S

O

90of 39 2/20/2019, 3:10 Ph



MATHI13 14WARMUPCOREQM101-Alfredo Alvarez
T

3 Graph the equationy=x+2, Letx=-3, -2, -1,0,1, 2,
and 3.
Find the following y-values. Then choose the correct graph
of the equation to the right. /JU N ¢
T (o0
s L (-1, 9)
-2 O /
-1 { (-'[j ’)
0 T (o, L)
1 3 Ci,7s)
2 Y (7,v)
3 ¢ (3,57 ) [
Answers - 1 dt = {‘:f_l—/ B
: S VA
1 — 2
- L = =277 —
) Y < (?,) L )
3 gz UL = AT
4 —
) Y (0] + ! a-t ¢
~ [~ -
gz = 178
Yz @)= 7L
B. =
B Yo el T S7C -
b — e i

t0 of 39

(
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36.
Graph the equation. Letx=-3, -2, -1,0, 1,2, and 3. ) A,

y=4x+1
/701-'\"‘-‘

x y
’5,11)

3 | L] ((1 -7}
-2 _-" /'—-,5)
-1 -3 ("’/

0 { (0, 1)

1 g (l) 5/

2 | (Z/ 4q)

: (3 (%,13)

Choose the graph on the right that co

i \j VJ(—/D
Answers - 11
Y= V)= AL < ~[(
-3 v,q(ﬂz.hﬁ/- -4 (=— 7

. 9= (= —( T T2
g o = 0 .--/
13 Yy=Slo) L (

«—

()l = Yl F
y<w(2)¢(= d+C =T
7:%(5)—%/'5 [T+ (3

1l of 39 22012019, 3:10 P»
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37.
Find seven ordered pairs to the equation y = 5~ x2. Then Choose the graph that connects the points.
determine its graph.

(VE ’l"’-} O A, O B.
_: T > (:"17//9/)
-2 | (f"l.) /)
7 | (4,7
: f /U/ f)
: .,‘*’ (1 7)

1 7:;—-{—z,)3—, s (-1)(~2) = 5 = (¥ =S 7 f

: R NATILES b (- )0~ S—(1)7 = o

41; 755,-__(0).1:_5’__/0)/0),_ — — (¢/ < — 0= S

4y - (nt=s=(Dm= 5~
YeS—(1) ' s—)(v)= §-(¥)= §TC =/

"

e 7; 3’,.-(3215 s A ¥n)= (7= f’/q—:—ff

0
L

(1) s—7=

10

-10

12 of 39 212072019, 3:10 P
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38.
Graph the equation. Letx=-3, -2, -1,0,1, 2, 0r 3.

y=-9

Find the following y-values. Then choose the correct graph
of the equation to the right.

X Y

= s

1| = e

0 ~—}
1 — 3 j - 9
2 —
3 — 9
Answers -9 ——
-9

(7}"4/

(3,9

39, Use factoring to solve the quadratic equation. Check by substitution or by using a hing utility-and identifying

x-intercepts. /(L__’ )(” S’G =0
K+7E& -§) ~ 2

¥’ -x-56=0

The solution set is E

(Use a comma to separate answers as needed. Type repeated roots only once.)

/(..p?:o Q_@ )("" §y=o

Answer. - 7.8

—

130f39 2/20/2019.3:10 Ph
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<7 X+3 0

2=7x+30 —3e =<

x“=7x

é< ff Q<—~/®
The solution set is { P —J
(Use a comma to separate answers as needed. ) yft’/ 3 o )(—7 “
__; } o f-u'} 04 X—~/u /2= G

Answer: 10,-3 ;

41. Solve the equation by factoring. ‘?X 1 ~ Ul X - ;—.;_._9

0x% +21x-8=0 (3,( — | 2/3( _f—? ) -
The solution'setis { [} A3 (—( =0 o 2 ¢ o
(Use a comma to separate answers as needed.) 2X—( ¢ ( =7/ OF 3(’7";—;" J—3

Answer: 1 8 31{ /‘ (-—-—3
73 2e jg

T

40. Saolve the equation by factoring. /(

=

42. Use factoring to sclve the quadratic equation. Check by substitution or by using a graphing utility and identifying
x-intercepts. -_— L

2 —
5% +10x=0 -(_X(/("/'&) =)
The solution setis { |1, LA £ X =0 IR, A7 =5
(Use a comma to separate answers as needed.) s
e IR fa-¢=07L

Answer: 0, =2 ;,Y;a d/L C E - — 2,:.

) e
43. Solve the equation by the square root property. X’__7 — /
- /6
(x-7)°=16 <
= -1
What is the solution set? (6(”'" [/—
:} {(Use a comma to separate answers as needed.) X-"? . + Lf
S R O
Answer: 3, 11 X T 7 OX 777 < (+#)
7 +7 LYt
i = E—— 8 BULE 5 WY DR
44, Solve the quadratic equation by completing the square. : —
rsr=1t /

x2.+4x=12- ’(,Lﬂk S or [{/v}) /27*(‘{/@) /@--f—@

What is the solution set? )( DAY (& Z L
" ~ -
{ b (Use acomma to separate answers as needed.) /Z-f ﬂ“} ('fz + (7/
Koo v M

Kt xr b = [l
Answer: 2, -6 /(Z__r,vs_/ﬁfg/__ /(

(s 2/()—(4—&) >

14 of 39
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